Chapter 9

Other Krylov Subspace Methods for
Non-Symmetric Systems

Remark 9.1. Motivation. The Krylov subspace methods GMRES and FOM
for solving general linear systems of equations have the disadvantage that
their costs (in memory and flops) increases with the number of iterations,
since there is no short recurrence. A remedy is to use restarted versions,
compare Remark 5.9. However, the restart might lead to a considerably slower
rate of convergence. This section presents alternative approaches that are
based on short recurrences but which fulfill the properties of minimizing the
residual (like GMRES) or of the residual being orthogonal to the Krylov
subspace (like FOM), respectively, not longer. a

Remark 9.2. Biorthogonal bases. The starting point of the alternative algo-
rithms is the construction of a pair of biorthogonal bases

{y(l), e ,y(k)} of K, (z(o), A) = span {E(O), Az(o), - 7Akilz(o)} ,

k—1
{w(l), e ,y(k)} of K, (g(o), AT) = span {T(O), ATK(O), cee (AT) r(O)}

(w(j ),y(i)) = dij-

These bases can be constructed with the Lanczos biorthogonalization proce-
dure. O

such that

Algorithm 9.3. Lanczos biorthogonalization procedure. Given a ma-
trix A € R™" and (¥ € R".

1.y(1):£(0)/ z(O)H2
2.@(1):y(1)
3.60:0, ’YO:O
4.y(0) =0, 70)19
5. for j=1:k
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Av(j)

6. s= Av

7. z= ATM(J)

3S. a; = (M(j)é)

9. Q(jH) —5— ozjy(] _ ﬁj,ly(jfl)
10. @(j‘f‘l) — 2 ajw(j) ~y _1w(j—1)
1. ;= Hﬁ(jﬂ)H

2
192. 7(j+1) _ Q(j+1)/'}’j
13. /Bj _ (@(j-l-l)’y(j-‘rl))
14 . w(j"‘l) — @(J""l)/ﬁj
15. endfor

Remark 9.4. On the Lanczos biorthogonalization procedure.
e There is a short recurrence in Algorithm 9.3.

e Note that the basis of K, (f(o),A) will be in general not orthogonal

as well as the basis of K, (z(o),AT). For non-symmetric matrices, the

computation of an orthogonal basis is not possible with a short recurrence.

e In the case A = A" Algorithm 9.3 is exactly the Lanczos Algorithm 5.12.

e Algorithm 9.3 requires two matrix-vector products, lines 6 and 7.

e A critical point of Algorithm 9.3 is the product of the transposed of A
with a vector, line 7. In some applications, A is not given explicitly. Then,
AT is usually not available. But much more important, the application of
a number of preconditioners, see Chapter 8, becomes complicated if AT
appears in the algorithm.

O

Theorem 9.5. Computation of a pair of biorthogonal bases. Assume
that (@(j),y(j)) #£0 forall j=1,--- k. Then, the Lanczos biorthogonaliza-

tion procedure computes a pair of biorthogonal bases.

PT’OOf. The theorem is proved by induction. The statement is true if k = 1 since Q(l) =

Q(l), line 2 and Q(l)

in a similar way as for the general case.
Assume, the statement is proved for ¢ = 1,...,k — 1 with k — 1 > 2, and suppose

(27,07) = (£,0?) =0fori £ 4,1 <ij < b-tand (w?,o?) =1, 1<i < k-1

y(k)

=1, line 1. For k = 2, it can be proved directly from the algorithm,
2

The choice of v;,_1 implies =1 and line 14 and the choice of 8;_; give
2

_ (k) <@(k),y(k))

Using lines 12 and 9, the assumption of the induction, and the definition of «a;,_; leads to
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(k—1) (k) ko) 2™
(M U ): w y
V-1

= 71 <£(k_1)7AQ(k_1)> —O0p_ (Q(k_l),y(k_1)> —Br—2 <w(k_1),y(k_2)> =0.
Te—1

=1 =0

One obtains analogously (y(k),y(k_l)) = 0. Moreover, using the lines 12, 9, the assump-

tion of the induction, line 10 (with z = ATQ(IC72)), and the definition of 8;_, gives

(w"“’”&““)

Tk—1 | — | —
=0 =1

= 1 [(mkz),m}(kl)) — (g(’“—”,g(k—l)) —Brs (w(k—Z)’Q(k_g))

(@k*Q),Ay(k*l)) - Bk_z]

(ATw(k72)7g(kfl)) _ /Bk—Q]

[
[
= ! |:<ﬁ)<k1)yv(kl>> +ag_2 (@%72)72%71)) +Vk—3 (@(k73)72<k71)) _Bk—2:|

V-1
=0 =0
= 0.
Analogously, one checks that Q(k),y(k_m) = 0 and in a similar way, one obtains
(y(k),y(ﬂ) =0 and (QU),y(k)) =0forj<k-—2. [ |

Remark 9.6. Matrixz representation of the Lanczos biorthogonalization proce-
dure. For the matrix representation of the Lanczos biorthogonalization pro-
cedure, the matrices

V, = (y(l) B .y(k)) W, = (@1) N .w(k)) c 7k

are introduced. From Algorithm 9.3, it follows that

T .
AVy, = Vk+1Tk+1,ka AWy = Wii1Tht1k 9.1)
with
oy B a1 M1
Y1 G2 B s
Tip1,k = Lo y Thy1k = o ;
Br-1 Ve—1
87> &7%

Yk B



